Solution Stoichiometry



Name _______________________________________
____________ 1. What is the molarity of a solution by diluting 43.72 mL of 5.005 M aqueous K2Cr2O7 to 500. mL?

____________ 2. What is the concentration of the sodium ion in 2.104 M sodium sulfate solution?

____________ 3. What is the volume of 0.827 M potassium hydroxide needed to react completely with 35.00 mL of 0.737 M sulfuric acid?

____________ 4. What mass of oxalic acid (H2C2O4) is required to react completely with 37.98 mL of 0.25 M sodium hydroxide?
____________ 5. What is the concentration of acetic acid if 27.5 mL of the acid reacts completely with 29.6 mL of 0.250 M sodium hydroxide?

____________ 6. What is the concentration of 25 mL of hydrochloric acid if it reacts completely with 60 mL of 0.2 M sodium hydroxide?

____________ 7. A 31.5 mL solution of sulfuric acid of unknown concentration reacts with 0.0134 M potassium hydroxide solution. What is the concentration of the sulfuric acid if 25 mL of the potassium hydroxide is needed to react it completely?

____________ 8. What is the concentration of nitric acid if 45 g aluminum hydroxide is needed to react completely with     25 mL of the nitric acid?

____________ 9. Which solution has the largest moles of chloride ions?
10 mL of 0.500 M BaCl2

7.50 mL of 0.500 M FeCl3

30.0 mL of 0.100 M CaCl​2
____________ 10. What mass of silver bromide is formed when 35.5 mL of 0.184 M silver nitrate is reacted with excess hydrobromic acid?

